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3.
Q5  (a) From the data, obtain the regression equations: (6.5) 3]
. Jobs
X: |6 |2 10 |4 |8 Ji J2 Ja Jg¢ Js
¥: 19 |11 |5 8 |7 01 6 2 5 3 6
L) 0z 2 5 8 7 7 m
(b) For a bivariate data, the X = 20, ¥ = 45. The regression coefficient of Y Operator ([Oz 7 8 6 9 8 @)
on X is 4 and that of X on Y is w. Find: ' 6) O+ 6 2 3 4 5 (&)
(i) The coefficient co-rrelation. Os M w M M M nd.
(ii) The standard deviation of X if the standard deviation of Y is 12. 0s T R
Unit-II1 =)
Q6 (a) Find the maximum value of 4x+5y subject to the comstraints by >
Graphical method. (6.5) S
¥ +y <20 )
x+2y <35 -
x—=3y <12 cC
x>0 e
y=20
(b) Write the dual of following LPP. (6) ©
gmNN“Ru_.lHNATNm w
Sub:x; ~x;—x3=5 _— S
2%y + 5%, ~x3 <2 f
Also solve the dual LPP. m
Q7  (a) Use simplex method to solve the L.P.P. (6.5) (@)
EN.NMBWNQ Z= MN.H + h..KN + X3 ﬂ
Subject to Constraints
RH.TNRN.TWNwMOO S
2% + %, + %3 < 60 m
3%, +x, + 2x3 <80
where xq,x, &x3 = 0
©
(b) Solve: Min Z = 2x; + 3x, + x3.
Sub: x; +x, =223 > 1,
X, —x3 =05, O
X1, Xz, X3 = 0. (6) m
Unit-IV S
Q8 A company has four plants Py, P2, Pa, P4 from which it supplies to three a
markets Mi, Mz, Ms. Determine the optimal transportation problem plan -—
from data giving the plant to market shifting costs, quantities available at (@)
each plant and quantities required at each market, {12.5) N
HMHMH P P2 P P. Required —
M, 19 14 23 11 11 a
M2 15 16 12 21 13 d
! M3 30 25 16 39 19 a
Availability 6 10 12 15 43 O
Q9 A company has 5 jobs on which to do 6 operators. Each operator can be m
assigned to one and only one job. The cost of each operator on each Job W
is given below. What are the job assignment which will minimize the 5
cost? 5
M,.w.o._ WP?‘NGJ 0
RLA-20) Ve
2=, =
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